
 

 P. T. O.  

Roll No. ...................................  

E–103 

M. Com. (First Semester) 

EXAMINATION, Dec.-Jan., 2020-21 

Paper Third 

INCOME TAX LAW AND ACCOUNTS 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- vk;dj dh njsa fu/kkZfjr dh tkrh gSa % 

¼v½ vk;dj vf/kfu;e esa 

¼c½ foŸk vf/kfu;e esa 

¼l½ v/;kns’k esa 

¼n½ buesa ls dksbZ ugha 
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Rates of Income tax are fixed under : 

(a) The Income Tax Act 

(b) The Finance Act 

(c) An ordinance 

(d) None of these 

2- vU; O;fDr;ksa dh vk; ij dj pqdkus ds fy, ftEesnkj O;fDr dks 

dgrs gSa % 

¼v½ okLrfod djnkrk 

¼c½ ukeek= djnkrk 

¼l½ ekuk gqvk djnkrk 

¼n½ buesa ls dksbZ ugha 

The person liable to pay Income Tax on the income of other 

persons is called : 

(a) Real Assessee 

(b) Assessee only for name 

(c) Deemed Assessee 

(d) None of these 

3- ,d f’k{k.k laLFkk] ftldk mís’; ykHk dekuk ugha gS] dh vk; fdl 

/kkjk ds vUrxZr dj&eqDr gS \ 

¼v½ 10 ¼23C½ 

¼c½ 10 ¼80G½ 

¼l½ 10 ¼10B½ 

¼n½ 10 ¼23D½ 
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The income of an educational institution of non-profit 

motive is exempt under which section : 

(a) 10 (23C) 

(b) 10 (80G) 

(c) 10 (10B) 

(d) 10 (23(D) 

4- djnkrk dh fuoklh; fLFkfr izR;sd o”kZ % 

¼v½ cny ldrh gS 

¼c½ fuf’pr cnysxh 

¼l½ ugha cnysxh 

¼n½ buesa ls dksbZ ugha 

Every year the residential status of an assessee : 

(a) may change 

(b) will certainty change 

(c) will not change 

(d) None of these 

5- er̀ deZpkjh dh fo/kok dks izkIr osru dj&;ksX; gksxk % 

¼v½ osru ‘kh”kZd esa 

¼c½ O;olk; ;k is’ks ls vk; ‘kh”kZd esa 

¼l½ vU; lk/kuksa ls vk; ‘kh”kZd esa 

¼n½ buesa ls dksbZ ugha 

Salary to a widow of a deceased employee shall be taxable : 

(a) under the head „salaries‟ 

(b) under the head „Income from Business or Profession‟ 

(c) under the head „Income from other sources‟  

(d) None of these 
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6- fu;ksDrk }kjk deZpkjh dks VkbVu ?kM+h Ø; djus gsrq ` 5]200 dk 

udn migkj fn;k x;kA bl fLFkfr esa fdruh jde dj&;ksX; gksxh \ 

¼v½ ‘kwU; jde 

¼c½ ` 200 

¼l½ ` 5]000 

¼n½ ` 5]200 

An employer gave cash gift of ` 5,200 to his employee to 

purchase a Titan watch. In this case how much amount shall 

be taxable ? 

(a) zero amount 

(b) ` 200 

(c) ` 5,000 

(d) ` 5,200 

7- ^edku lEifŸk ls vk;* ‘kh”kZd ds vUrxZr dj dk vk/kkj gksrk gS % 

¼v½ izkIr fdjk;k 

¼c½ izekfir fdjk;k 

¼l½ uxjikfydk ewY; 

¼n½ okf”kZd ewY; 

The base of tax under the head „Income from House 

Property‟ is : 

(a) Rent received  

(b) Standard Rent 

(c) Municipal value 

(d) Annual value 
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8- vizkIr fdjk;s dh jde dks fuEufyf[kr esa ls ?kVk;k tk;sxk % 

¼v½ ‘kq) okf”kZd ewY; esa ls 

¼c½ okf”kZd ewY; esa ls 

¼l½ ldy okf”kZd ewY; esa ls 

¼n½ buesa ls dksbZ ugha 

Unrealised rent shall be deducted from the following : 

(a) From Net Annual Value 

(b) From Annual Value 

(c) From Gross Annual Value 

(d) None of these 

9- fdjk;s ij pyus okyh eksVj&ykWjh ij kl dh nj yxsxh % 

¼v½ 20% 

¼c½ 30% 

¼l½ 40% 

¼n½ 15% 

Rate of depreciation shall be charged on Motor-Lorry given 

on hire : 

(a) 20% 

(b) 30% 

(c) 40% 

(d) 15% 
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10- /kkjk 37¼1½ ds vUrxZr mu O;;ksa ds lEcU/k esa dVkSrh nh tkrh gS] 

ftudh izÑfr gS % 

¼v½ vk;xr 

¼c½ iw¡thxr 

¼l½ vk;xr o iw¡thxr nksuksa  

¼n½ buesa ls dksbZ ugha 

Deduction U/S 37(1) shall be allowed for those expenditure 

which are of nature : 

(a) Revenue 

(b) Capital 

(c) Both revenue and capital 

(d) None of these 

11- fuEufyf[kr esa ls dkSu&lk foØ; O;; ugha gS \ 

¼v½ foKkiu O;; 

¼c½ deh’ku 

¼l½ nykyh 

¼n½ izfrHkwfr ysu&nsu dj 

Which of the following is not selling expense ? 

(a) Advertisement expenses 

(b) Commission 

(c) Brokerage 

(d) Securities Transaction Tax 
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12- fn[kkoVh ysu&nsu rjhdk gS % 

¼v½ vk;dj cpkus dk 

¼c½ vk;dj de pqdkus dk 

¼l½ vk; de fn[kkus dk 

¼n½ buesa ls dksbZ ugha 

Bond washing transaction is a method : 

(a) To save income tax 

(b) To pay less income tax 

(c) To show less income 

(d) None of these 

13- ^O;olk; ,oa is’kk* ‘kh”kZd dh gkfu dks fuEufyf[kr vk; ls iwjk ugha 

dj ldrs gSa % 

¼v½ iw¡th ykHk 

¼c½ osru ls vk; 

¼l½ vU; lk/kuksa ls vk; 

¼n½ buesa ls dksbZ ugha 

Loss under head „Business and Profession‟ cannot be set-off 

against the following income : 

(a) Capital gain 

(b) Income from salaries 

(c) Income from other sources  

(d) None of these 
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14- djnkrk ds cPpksa dh f’k{kk ds lEcU/k esa f’k{k.k ‘kqYd dh dVkSrh dks 

fuEufyf[kr /kkjk esa lfEefyr fd;k tk;sxk % 

¼v½ /kkjk 80 D 

¼c½ /kkjk 80 E 

¼l½ /kkjk 80 C 

¼n½ /kkjk 80 CCC 

Tuition fee of assesee‟s children shall be covered for 

deduction under the following section : 

(a) Sec. 80 D 

(b) Sec. 80 E 

(c) Sec. 80 C 

(d) Sec. 80 CCC 

15- fuEufyf[kr esa ls dkSu&lh /kkjk dh NwV ,d HUF viuh ldy dqy 

vk; esa izkIr ugha dj ldrk \ 

¼v½ 80 D 

¼c½ 80 G 

¼l½ 80 DD 

¼n½ 80 P 

Under which section of the following, an HUF is not entitled 

to deduction form its gross total income ? 

(a) 80 D 

(b) 80 G 

(c) 80 DD 

(d) 80 P 
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16- HUF dh n’kk esa oSdfYid U;wure dj ds izko/kku fuEufyf[kr n’kk 

esa ykxw gksaxs % 

¼v½ dqy vk; ` 20 yk[k gksus ij 

¼c½ dqy vk; ` 20 yk[k ls vf/kd gksus ij 

¼l½ dqy vk; ` 20 yk[k de gksus ij 

¼n½ buesa ls dksbZ ugha 

In case of HUF, the provisions of alternate minimum tax 

shall be applicable in the following cases : 

(a) Total income is ` 20 lakh 

(b) Total income exceeds ` 20 lakh 

(c) Total income is below `  20 lakh 

(d) None of these 

17- dj&fu/kkZj.k vf/kdkjh dk in fuEufyf[kr frfFk ls lf̀tr gqvk gS % 

¼v½ 01&04&1988 

¼c½ 01&04&1989 

¼l½ 01&04&1990 

¼n½ buesa ls dksbZ ugha 

The designation of assessing officer is created from the 

following date : 

(a) 01-04-1988 

(b) 01-04-1989 

(c) 01-04-1990 

(d) None of these 
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18- vk;qDr dks vFkZn.M ekQ djus dk vf/kdkj fuEufyf[kr /kkjk ds 

vUrxZr feyk gqvk gS % 

¼v½ /kkjk 271 A 

¼c½ /kkjk 273 AA 

¼l½ /kkjk 273 A 

¼n½ buesa ls dksbZ ugha 

The commissioner has right to relieve penalty under the 

following section : 

(a) Sec. 271 A 

(b) Sec. 273 AA 

(c) Sec. 273 A 

(d) None of these 

19- vk;qDr ¼vihy½ ds ;gk¡ vihy ,d fu/kkZfjr QkWeZ ij dh tkrh gS] 

ftldh la[;k gS % 

¼v½ 35 

¼c½ 31 

¼l½ 33  

¼n½ buesa ls dksbZ ugha 

The appeal to commissioner (appeal) is done on a prescribed 

form of which number is :  

(a) 35 

(b) 31 

(c) 33 

(d) None of these 
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20- ;fn dqy vk; ` 1]00]000 ls vf/kd fdUrq ` 2]00]000 ls vf/kd ugha 

gS rFkk vihy] vk;qDr ¼vihy½ ds ;gk¡ dh tkrh gS] rks vihy dh 

Qhl gksxh % 

¼v½ ` 250 

¼c½ ` 500 

¼l½ ` 1]000 

¼n½ buesa ls dksbZ ugha 

If the total income exceeds ` 1,00,000 but not more than  

` 2,00,000 and appeal is done to commissioner (Appeal), the 

fee for the appeal shall be : 

(a) ` 250 

(b) ` 500 

(c) ` 1]000 

(d) None of these 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % bl [k.M ls fdUgha vkB iz’uksa ds mŸkj nks ;k rhu okD;ksa esa 

fyf[k,A  

 Write answer of any eight questions from this Section in 

two or three sentences. 

1- vk;dj dh dksbZ nks fo’ks”krkvksa dks fyf[k,A 

Write any two characteristics of Income tax. 

2- vk; dj ls iw.kZr;k eqDr fdUgha pkj vk;ksa ds uke crkb,A 

State any four incomes which are completely exempted from 

income tax. 
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3- ;krk;kr HkŸkk fdl lhek rd djeqDr gksrk gS \ 

What is extent transport allowance exempt ? 

4- lEHkkfor fdjk;s ls D;k vk’k; gS \ 

What is meant by expected rent ? 

5- ?kqM+nkSM+ ls thr ds lEcU/k esa lzksr ij dj dVkSrh dc ugha dh tkrh 

gS \ 

When tax is not deducted at source form winnings of horse 

race ? 

6- izkIr djus dh ykxr dks lwpdkafdr djus dk D;k vk’k; gS \ 

What is indexing of cost of acquisition ? 

7- ,sls pkj fn;s x;s nkuksa ds uke fyf[k, ftu ij 50% dVkSrh LohÑr 

gSA 

Write four such donations for which 50% deduction is 

allowed. 

8- ,d fgUnw vfoHkkftr ifjokj esa lgHkkxh lnL; dkSu gksrs gSa \ 

Who are coparceners in Hindu undivided family ? 

9- izR;{k djksa ds dsUnzh; cksMZ ds nks dk;ks± dk mYys[k dhft,A 

List out any two functions of Central Board of Direct taxes. 

10- mu nks vijk/kksa dks crkb;s ftuds fy, fdlh O;fDr ds fo#) 

vfHk;kstu dh dk;Zokgh dh tk ldrh gSA 

State those two offences which make a person liable for 

prosecution. 
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 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A xf.krh; izÑfr ds iz’uksa dks 

NksM+dj vU; iz’uksa dk mŸkj yxHkx 75 ‘kCnksa esa nhft,A  

 Attempt any eight questions. Each question except 

numerical nature is to be answered in about 75 words.  

1- fuEufyf[kr O;fDr;ksa dh fLFkfr fu/kkZfjr dhft, % 

(i) ia- jfo’kadj ‘kqDy fo’ofo|ky; 

(ii) bykgkckn cSad 

(iii) ctZj is.V~l izk- fyfeVsM 

(iv) jk;iqj uxj fuxe 

(v) ,l- ch- ih- Mh- ifCyds’kUl 

(vi) ^v* rFkk ^c*] ^l* ds dkuwuh mŸkjkf/kdkjh gSaA ^l* dh eR̀;q 

2018 esa gks xbZ rFkk ^v* rFkk ^c* lk>snkjh esa lfEefyr u gksrs 

gq, O;olk; dk lapkyu dj jgs gSaA 

Determine the status of the following persons : 

(i) Pt. Ravishankar Shukla University 

(ii) Allahabad Bank 

(iii) Berger paints Pvt. Ltd. 

(iv) Municipal Corporation of Raipur 
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(v) S. B. P. D. publications 

(vi)  A and B who are legal heris of C. C died in 2018 and A 

and B carry on his business without entering into a 

partnership. 

2- ikfdLrkuh fØdsV f[kykM+h bejku [kku 2000&2001 ls izfr o”kZ Hkkjr 

esa fØdsV [ksyus vkrk gS vkSj Hkkjr esa 4 ekg jgrk gSA dj&fu/kkZj.k 

o”kZ 2020&2021 ds fy, mldh fuoklh; fLFkfr crkb,A 

Mr. Imran khan, a Pakistani cricket player, comes to India 

since 2000-2001 every year to play cricket and stays here for 

about 4 months. State his residential status for the 

assessment year  2020-2021. 

3- Jh ,- ds- tSu xzsP;qbVh vf/kfu;e] 1972 ds vUrxZr ugha vkrs gSa]  

34 o”kZ 9 ekg 23 fnu dh lsok ds mijkUr 23 twu] 2019 dks 

lsokfuoŸ̀k gksus ij ` 5]76]000 xszP;qbVh ds izkIr djrs gSaA mUgksaus 

lcls vUr esa fuEufyf[kr dqy osru izkIr fd;k % 

ewy osru ` 31]200 izfrekg( eg¡xkbZ HkŸkk ` 7]200 izfrekg ¼LFkk;h½A 

ewy osru esa ` 1]200 izfr ekg dh okf”kZd of̀) izfr o”kZ 1 tuojh dks 

gksrh gSA dj&fu/kkZj.k o”kZ 2020&21 esa xzsP;qbVh dh fdruh jkf’k 

dj&eqDr gksxh \ 

Sri A. K. Jain, who is not covered by the payment of 

Gratuity Act, 1972, receives a gratuity of ` 5,76,000 when he 

retires on 23rd June, 2019 after a service of 34 years 9 
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months and 23 days. His last drawn emoluments are as 

follows : 

Basic salary ` 31,200 p. m.; dearness allowance  

` 7,200 p. m. (fixed). 

Annual increment in basic salary ` 1,200 p. m. falls due on 

1st January every year. What amount of gratuity is exempt 

from tax in the assessement year 2020-21 ? 

4- ^edku lEifŸk ls vk;* ‘kh”kZd ds vUrxZr dkSu&lh vk; dj&eqDr gS \ 

Which income is exempted under the head „Income from 

House property‟ ? 

5- fe- nslkbZ us 10 tqykbZ] 2002 dks ` 4]60]000 esa ,d lEifŸk [kjhnh 

ftls mlus 2 tqykbZ] 2019 dks jgfr;s esa ifjofrZr djk fy;kA bl 

ifjorZu dh frfFk dks lEifŸk dk mfpr cktkj ewY; ` 27]80]000 FkkA 

fe- nslkbZ us bl jgfr;s dks fnlEcj 2019 esa ` 27]98]000 esa csp 

fn;kA dj&fu/kkZj.k o”kZ 2020&21 ds fy, iw¡th ykHk dh x.kuk dhft,A 

jgfr;s dk foØ; djus ij D;k izHkko gksxk \ o”kZ 2002&03 esa ykxr 

LQhfr lwpdkad 105 rFkk 2019&20 esa 289 gSA 

Mr. Desai purchased an asset on July 10, 2002 for ` 4,60,000 

which he converted into stock in trade as on July 2, 2019. On 

the date of this conversion the fair market value of asset was 

` 27,80,000. Mr. Desai sold this stock in December 2019 for 

` 27,98,000. Compute capital gain during assessment year 

2020-21. What would be effect on the sale of stock ? Cost 

Inflation Index No. in the year 2002-03 is 105 and 2019-20 

is 289. 
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6- fuEufyf[kr fooj.k ls Kkr dhft, fd v’kksf/kr kl dh fdruh jde 

vkxs ys tk;h tk;sxh \ 

(i) O;olk; dh vk; ¼ kl yxkus ls iwoZ½ ` 1,08,000 

(ii) kl ` 2,22,000 

(iii) edku&lEifŸk ‘kh”kZd ls vk; ` 90,000 

(iv) vU; lzksrksa ls vk; ` 9,000 

From the following particulars, find out the amount of 

unabsorbed depreciation to be carried forward : 

(i) Income from business (Before 

charging depreciation) 

 

` 1,08,000 

(ii) Depreciation ` 2,22,000 

(iii) Income from house property head ` 90,000 

(iv) Income from other sources ` 9,000 

7- vk;dj vf/kfu;e esa gkfu;ksa ds viys[ku lEcU/kh izko/kkuksa dk o.kZu 

dhft,A 

Discuss the provisions of Income Tax Act, relating to setoff 

of losses. 

8- /kkjk 80 DD esa dVkSrh dk o.kZu dhft,A 

Describe the deduction U/S 80 DD. 

9- bude&VSDl vihysV fVªC;wuy ds D;k dk;Z gSa \ 

What are the functions of the Income Tax Appellate  

Tribunal ? 

10- vFkZn.M ekQ djus lEcU/kh vk;qDr ds vf/kdkj dk o.kZu  

dhft,A 

Describe the rights of Commissioner relating to exempt from 

penalty. 



 [ 17 ] E–103 

 P. T. O. 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A xf.krh; izÑfr ds iz’uksa dks NksM+dj 

vU; iz’uksa dk mŸkj yxHkx 150 ‘kCnksa esa nhft,A  

 Attempt all questions. Each question except numerical 

nature is to be answered in about 150 words.  

1- ßvk;dj xro”kZ dh vk; ij yxrk gSAÞ D;k vki bl dFku ls 

iw.kZr;k lger gSa \ ;fn ugha] rks viokn crkb;sA 

“Income tax is charged on the income of the previous year.” 

Do you fully agree with the statement ? If not, what are the 

exceptions. 

vFkok 

(Or) 

dfe’uj ¼vihy½ ds ;gk¡ vihy dh dk;Zfof/k dk la{ksi esa o.kZu 

dhft,A 

Describe briefly the procedure of an appeal to the 

Commissioner (Appeal). 

2- fe- fxfj tks usiky ljdkj ds lsokfuoŸ̀k deZpkjh gSa] us fnlEcj 2008 

esa Xokfy;j ¼tula[;k 28 yk[k½ esa ,d futh QeZ ds ;gk¡ lsok,¡ 

izkjEHk dhaA foŸkh; o”kZ 2019&20 ds fy, viuh vk; dk fuEufyf[kr 

fooj.k izLrqr fd;k gS % 

  ` ¼izfr ekg½ 

(i) osru ¼mlus ,d ekg dk osru usiky esa 

izkIr fd;k½ 

 

15,000 

(ii) ;kstuk HkŸkk 1,000 
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(iii) fpfdRlk HkŸkk 1,000 

(iv) euksjatu HkŸkk 2,500 

(v) ;k=k HkŸkk nkSjs ds fy, 7,000 

(vi) O;olk; ds le; esa uk’rs dh lqfo/kk 2,000 

(vii) usiky ljdkj ls isa’ku ¼mlus isa’ku usiky 

esa gh izkIr dh vkSj ogha ,d cSad esa tek 

dj nh½ 

 

 

6,000 

(viii) mls jgus ds fy, ,d lqlfTtr edku fn;k x;k x;k gS 

ftlds fy, fu;ksDrk ` 12]000 izfrekg Hkqxrku djrk gS] 

ysfdu mlds osru ls dsoy ` 3]000 izfrekg dh gh dVkSrh 

djrk gSA mls tks QuhZpj fn;k x;k gS mldh ykxr  

` 1]00]000 gSA 

(ix) mlds Lo;a dk vizekf.kr izkWfoMs.V Q.M esa va’knku ` 3]000 

izfrekg gS rFkk fu;ksDrk Hkh blds cjkcj dh jkf’k dk 

va’knku nsrk gSA 

dj&fu/kkZj.k o”kZ 2020&21 ds fy, mldh osru ls vk; dh x.kuk 

dhft,A 

Mr. Giri who is a retired employee of the Nepal 

Government, started serive in a private firm at Gwalior 

(Population 28 lakh) since December 2008. He furnished the 

following particulars of his income for the financial year 

2019-20 : 

  ` per month 

(i) Salary (one month salary received in 

Nepal) 

 

15,000 

(ii) Planning allowance 1,000 

(iii) Medical allowance 1,000 
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(iv) Entertainment allowance 2,500 

(v) Travelling allowance for tour 7,000 

(vi) Refreshment facility during business 

hours 

 

2,000 

(vii) Pension from Nepal Govt. (he 

received the pension in Nepal and 

deposited in a bank there) 

 

 

6,000 

(viii) He has been provided with a furnished house for 

which the employer pays ` 12,000 p. m. but deducts 

only ` 3,000 p. m. from his salary. The furniture 

provided to him costs ` 1,00,000. 

(ix) His own contribution to unrecognised provident fund 

is ` 3,000 p. m. and the employer also contributes an 

equal amount. 

Compute his income from salary for the assessment year 

2020-21. 

 vFkok 

(Or) 

Jh ch- yky ,d O;olk;h gSA mUgksaus ,d cgqeaftyh bekjr cuok;h 

ftlesa cjkcj vkdkj ds 16 ¶ySV gSa] ftldk fuekZ.k dk;Z viSzy 2015 

esa izkjEHk gqvk vkSj viSzy 2018 esa iw.kZ gks x;kA 16 ¶ySVksa esa ls 8 

¶ySV jgus ds fy, fdjk;s ij vkSj 2 ¶ySV O;olk; ds fy, fdjk;s ij 

mBk fn;sA 2 ¶ySV Jh ch- yky Lo;a ds jgus ds fy, mi;ksx dj jgs 

gSaA 2 ¶ySV vius O;olk; ds fy, rFkk 2 ¶ySV vius O;olk; ds nks 

deZpkfj;ksa dks jgus ds fy, vkcafVr fd;s ftlls O;olk; pykus esa 

lqxerk jgsA 10 fdjk;snkjksa esa ls izR;sd ls ` 4]000 izfrekg fdjk;k 

olwy fd;k tkrk gSA Jh ch- yky }kjk 31 ekpZ] 2020 dks lekIr gksus 

okys o”kZ ds fy, ¶ySV ds lEcU/k esa vxzfyf[kr O;; fd;s x;s %izR;sd 
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¶ySV dk uxjikfydk dj ` 750( ejEer ykxr ` 250 izfr ¶ySV] 

fuekZ.k dk;Z gsrq fy;s x;s _.k ij okf”kZd C;kt ` 2]40]000  

¼_.k 1 viSzy] 2016 dks fy;k x;k½A dj&fu/kkZj.k o”kZ 2020&21 ds 

fy, edku lEifŸk dh vk; Kkr dhft,A 

Shri B. Lal is a businessman. He has constructed a multi-

stories building consisting of 16 flats of equal size, the 

construction of which was started in April 2015 and 

completed in April 2018. Of these 16 flats, 8 flats were, and 

2 flats to tenants for their business. 2 flats were used by Shri 

B. Lal for his own residence, 2 flats were used by him for his 

own business and 2 flats were allotted two employees of Shri 

B. Lal‟s business for their residence to facilitate the carrying 

on his business. The rent charged form each of the 10 tenants 

was ` 4,000 p. m. The expenses incurred by Shri B. Lal in 

respect of the flats during the year ended on 31st March, 

2020 were as follows : Municipal taxes for each flat ` 750, 

cost of repair for each flat ` 250, annual interest on loan for 

construction of the house ` 2,40,0000 (loan was taken on 1st 

April, 2016). Compute the income of house property for the 

assessment year 2020-21. 

3- fe- ‘kgukt] ,d O;kikjh dk ykHk&gkfu [kkrk fuEufyf[kr enkas ds uke 

i{k esa fy[kus ds ckn ` 88]000 dk ‘kq) ykHk n’kkZrk gSA dj&fu/kkZj.k 

o”kZ 2020&21 ds fy, O;olk; dh vk; Kkr dhft, % 

(i) vk;dj dk Hkqxrku ` 17]000 ,oa vk;dj lEcU/kh dk;Zokgh ij 

O;; ` 11]000A 

(ii) vk;dj pqdkus ds fy, fy;s x, _.k dk C;kt ` 4]000A 

(iii) foØ; dj ` 1]800 ,oa foØ;&dj le; ij u pqdkus ds dkj.k 

tqekZuk ` 4]000A 
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(iv) ,d ysunkj dks ` 28]000 dk udn HkqxrkuA 

(v) uxjikfydk dj ` 1]800A bl Hkou ds 1@3 Hkkx esa mldk 

O;kikj pyrk gS] vk/ks Hkkx esa Lo;a jgrk gS ,oa ‘ks”k Hkkx fdjk;s 

ij fn;k gqvk gSA 

mi;qZDr ‘kq) ykHk esa iqjkus Mwcr _.k dh olwyh ` 4]800 ‘kkfey gS] 

ftldh iwoZ esa vk;dj vf/kdkjh us dVkSrh LohÑr ugha dh FkhA 

Profit and loss account of Mr. Sahnaz, a trader shows net 

profit of ` 88,000 after debiting the following items. Find out 

income from business for the assessment year 2020-21 : 

(i) Payment of income tax ` 17,000 and income-tax 

procedure expenses ` 11,000. 

(ii) Interest on loan taken from payments of Income tax  

` 4,000. 

(iii) Sales tax ` 1,800 and penalty ` 4,000 for delay 

payment of sales-tax. 

(iv) Cash payment to a creditor ` 28,000. 

(v) Municipal tax ` 1,800. 1/3rd portion of the house is 

used for business and half portion is used for self-

residence and remaining portion is let-out. 

A foresaid net profit includes ` 4,800 for recovery of old bad 

debts, which were disallowed by income tax officer in past. 

vFkok 

(Or) 

Jherh djuthr dh vk; dk fooj.k fuEufyf[kr gS % 

           ` 

(i) ljdkjh izfrHkwfr;ksa ij izkIr C;kt 18,000 

(ii) fons’kh dEiuh ls ykHkka’k izkIr 16,000 
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(iii) ykWVjh ls thr ds izkIr gq,  1,33,000 

(iv) ‘krZ esa thrs 50,000 

(v) futh dkj dks fdjk;s ij mBkus ls vk; 

¼dkj fdjk;s ij mBkuk Jherh djuthr 

dk O;kikj ugha gSA½ 

 

 

80,000 

(vi) ikfjokfjd isa’ku ` izfrekg 3,000 

mlus fuEufyf[kr O;; fd;s % 

(i) va’k ,oa izfrHkwfr;k¡ Ø; djus gsrq fy;s _.k ij C;kt pqdk;k  

` 14]000A 

(ii) ykHkka’k ,ao C;kt ,d= djus ij cSad dks 2% deh’ku fn;kA 

(iii) ykWVjh ds fVdV Ø; djus eas ` 3]000 O;; fd;sA 

(iv) futh dkj ds fdjk;s dh vof/k dk O;; ¼ kl lfgr½  

` 24]000A 

dj&fu/kkZj.k o”kZ 2020&21 ds fy, Jherh djuthr dh ^vU; lk/kuksa 

ls vk;* ‘kh”kZd dh x.kuk dhft,A 

Following are the particulars of income of Smt. Karanjeet : 

             ` 

(i) Interest recieved on Govt. securities 18,000 

(ii) Dividend recieved from a froiegn 

comapny 16,000 

(iii) Amount received from winnigns of 

lottery 1,33,000 

(iv) Winning from betting 50,000 

(v) Income from letting on hire the 

private car (Letting on hire of car is 

not the business of Smt. Karanjeet) 80,000 

(vi) Family pension ` per month 3,000 
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She incurred the following expenditures : 

(i) Interest paid on loan taken to purchase shares and 

securities ` 14,000. 

(ii) Bank commission paid @ 2% for collecting dividend 

and interests. 

(iii) Spent ` 3,000 on purchasing lottery tickets.  

(iv) Expenses of the private car for the period during which 

it was let-out ` 24,000 (including depreciation). 

Computer the income of Smt. Karanjeet under the head 

„Income from other sources‟ for the assessment year  

2020-21. 

4- Jh x.ks’k tks vkaf’kd :i ls viax gS] dh 31 ekpZ] 2020 dks lekIr 

gksus okys o”kZ dh vk; esa fuEufyf[kr ‘kkfey gSa % 

¼v½ O;kikfjd ykHk ¼` 26]000 ,d dkWyst dks fn;s x;s nku dks 

?kVkus ds i’pkr~½ ` 2]52]000A 

¼c½ ,d iathÑr QeZ ls ,d&pkSFkkbZ Hkkx ¼ftlus vk;dj Hkqxrku 

fd;k gS½ ftlesa og lk>snkj Fkk ` 8]000A 

¼l½ ljdkjh izfrHkwfr;ksa ij C;kt ` 8]000A 

¼n½ Hkkjrh; dEifu;ksa ds va’kksa ij ykHkka’k ` 6]000A 

¼;½ Jh x.ks’k us viuh iq=&o/kw ds fy, ,d ` 2]00]000 dk thou 

chek izi= ftl ij ` 2]000 dk izhfe;e Hkqxrku fd;kA 

dj&fu/kkZj.k o”kZ 2020&21 ds fy, dqy vk; dh x.kuk dhft,A 

The income of Shri Ganesh, who is partially handicapped, 

for the year ended 31st March, 2020 consists of the 

following : 

(a) Business profits (after setting off ` 26,000 paid as 

donation to a college) ` 2,52,000. 
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(b) 1/4th share from a registered firm (which has paid 

income tax) ` 8,000 in which he is partner. 

(c) Interest on Govt. securities ` 8,000.  

(d) Dividend on shares of Indian company ` 6,000. 

(e) Shri Ganesh took a life insurance policy of ` 2,00,000 

for his daughter-in-law on which a premium of ` 2,000 

was paid. 

Computer the total income for the assessment year 2020-21. 

vFkok 

(Or) 

,d vfoHkkftr fgUnw ifjokj dk dj&fu/kkZj.k ds vk/kkj dk o.kZu 

dhft,A 

Discuss the basis of assessment of Hindu Undivided Family. 
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